Problem 3. Find the equations
and plot vo,7(v\) for each circuit.




Find the equation and plot vy ,(Vin)
for each circuit.

A) 2ka

Vout=VIN
Vo=-VIN
vp<0.7, when v,\»>-0.7

Vour=0.67(v,+0.7)-0.7
Vout=0.67v;-0.233
Ip=-(v,y*+0.7)/6000
>0, when v <-0.7




Find the equation and plot vy ,(Vin)

for each circuit.
(A) 2 kQ)

VOUT=‘67V|N’-‘23 Wheﬂ V|N<-0‘7

V'N VOUT VOUT=V|N’ Wheﬂ V|N>-0‘7

DCVD *the equal can go
with either case

4 kQ

— VouTt




B) 4ko

VIN

Find the equation and plot vy ,(Vin)
for each circuit.

Vout=VIN
Vo=VIN
vp<0.7, when v <0.7

Vour=0.24(v\\ -0.7)+0.7
Vout=0.24v+0.53
Iip=(Vv,§-0.7)/1320

1”0, when v,»>0.7



(B)

Find the equation and plot vy ,(Vin)
for each circuit.

Vout=Vn» When v <0.7
Vout=0.24v\+.53 when v >0.7

VIN 1 kQ Vour
*the equal can go
DCVD with either case
320 Q
Vour




Find the equation and plot vy ,(Vin)
for each circuit.

©) 9000
Vin *vp© + Vour=0
2 kQ Vout YD~VIN
vp<0.7, when v <0.7
900 Q

VOUT=0 o 7(V|N-0 o 7)
T iy=(vy-0.7)2900

Ip :
1”0, when v,»>0.7
2 kO Vout

=




Find the equation and plot vy ,(Vin)
for each circuit.

VOUT=O'7(V|N-O‘7) Wheﬂ V|N>0‘7
900 O Vour=0, when v, <0.7

*the equal can go
with either case

Vour
2 kQ

= Vourt




Find the equation and plot vy ,(Vin)
for each circuit.

(

D)
vin | Tvo' N Vour=0
Vp=-V
Vv D IN
Sk S Your  <0.7, when v, >-0.7

+ Vour=Vint-./
'D=-(V|N+' 7)’5000
>0, when v <-0.7

3




Find the equation and plot vy ,(Vin)
(D) for each circuit.
DIDEAL

Vout=0, when v,,»>-0.7
VOUT=V|N+‘7 When V|N<-O‘7

\" \"
IN ouT *the equal can go

5 kQ with either case

Vourt




Find the equation and plot v, (V) for each circuit.

2 kQ) 3 kQ

ViN Vour
(A) /\ Dcvp 2 kQQ
C > C
VIN “ 4 kO | Vour
3 kQ

(B)  2ko



Vin
9 Vb . 2 kQ

Find the equation and plot vy ,(Vin)

for each circuit.
A) 2ka 3kKO

1

2 kQ 3 kQ

NG

4

Vout

Vour=0.286v )
VD='0. 71 4V|N
vp<0.7, when v,»>-0.98

VOUT=-0‘ 7(2’5)=0 o 28
ip=-(v\\*.7)/2000-0.7/5000
ip>0, when v <-0.98



Find the equation and plot vy ,(Vin)
for each circuit.

2 kQ) 3 kQ

o
Vourt

AN 2 kQ

= =  Vout=0.28, when v,,<-0.98
VOUT=0'286VIN: When V|N>'0.98

VOUT *the equal can go
with either case

VIN



Find the equation and plot vy ,(Vin)
(A) for each circuit.

+ VD=

+ Vout=(3/9)v
VinN_ 4 kQ) V;):IZIQ)VW IN
9 3 kQ<S Vour vp<0.7, when v\<3.15
2 kQ -

Vour=(3/7)(vy-0.7)
ip=(v\-0.7)/7000-0.7/2000
ip»0, when v»>3.15




Find the equation and plot vy ,(Vin)

DIDEAlfor each circuit.
l:)CVD

VourT
3 kQ

VOUT=(1 lS)VINg When V|N<3‘1 5
VOUT=(3l7)(V|N-O‘7)’ Wheﬂ V|N>3‘1 5

VouTt

*the equal can go
with either case

VIN
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